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ECONOMICS
( General )

Paper : 6.2

( Planning and Development in India )

Pull Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
w7 AR e faan

(a) What is democratic planning?

sreifee s 2

(bp) When was the NITI Aayog’ of India
constituted?

TS “NITI ST’ cefom s 341 o231 2
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(2)

What is the main aim of Import
Substitution Policy of India?

TR S Rem A 38 Bewe R 2

Define the term ‘economic globalization’.

‘TS CoIERITI’S S R |

Give one argument‘ for favour of
privatization of Indian industries.

ﬁs:;wmwmﬂw«ﬂwmv@
I |

. z° .
What do you mean by SGSY?

 SGSY A R @12

Is India a mixed economy? Give one
argument.

RS G4 e WS o1 =0T 7 o1 3R

Mention one objective of ‘Act East Policy’.

‘o3 e FRY BT BT TCE 9 |

Write the full form of NEEPCO.
NEEPCO-3 *§f S°Ith1 forn |

Write one important cause .of slow
economic growth of India.

SRS T§ SARST TR @B wweed IR
o

( Continued )

(3)

2. Answer the following questions : - 2x5=10
were fial erppRd e fia

(a) Mention any two sources of resource
mobilization of India’s Five-Year Plans.

SRR e sReErHR & @R R
G (51 Be7T T e 1

(b) Give two arguments in favour of
economic reforms in India.

SRET GLARSE FFRA T o1 I i |

(c) Write two objectives of MGNREGA.
MGNREGA-I 751 &rapt ford1 |

(d) Mention two functions of Planning
Commission.

S{fRT1 SCAIR o1 I Trard 0|

(e/) Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

SR GRS T TN RO e T
TRl 39 R 2 71 I fran
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3. Answer any four of the following questions :
5x4=20

wore frll 2peARs R e voif¥bie s faan

(a) Discuss the achievements of NEC.

BT~ AT STFASPTR SO 41 |

(b) Is there any need of foreign investment in
the context.of policy of economic self-
sufficiency of India? Give reasons.

SRR AT AefSIeTer AR “Reofres
e RN I 2earem ¥ e 2
PRPR A 90 |

(c) Distinguish between centralized and
decentralized planning.

@Tpe UF PO ARFTAR N cryeat |

(d) Analyze the salient features of India’s
Five-Year plan.
SRS AeRIRE RTENE [0 QREPER 3
91

(e) “The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.
‘o RIS ARFET A SR AwiE
RFEE @@ TR AR 1 BReTH TR e
T 2 I faan o
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4. Answer the following questions :

((5)

Explain the various features of
decentralized planning of Assam.

o Redge Resr Rfesn Rz

[ A0

wore i eppTRe e f

(@)
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How are the strategies and goals of
economic planning in India changed in
the post-liberalization period? Explain.

TIRFAR  [<E HAS  SHed  GYAfE
ARITIR e F AFR Qe R
=R, I T

Or / 941
Describe the achievements and failures
of Indian planning during post-

liberalization period.

OReS THAFAN ARRE RIS ARTEAR
STFerel SF Reperop 3941 71 1
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(b)

(c)
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Examine the role of Foreign Direct
Investment during the reform period of
India.

GAARST TR TS ST AT (I
fRfFtcamsm sl =@ 1

Or / 937

Discuss the present composition of
foreign trade of India.

Arefes IEMe SREd QEHE SR eivw
AT 41

Describe various achievements and
failures of decentralized planning of
India.

SRy Rzage “RFs ™ Rfen siweae wre
feropTyz 3¢ 4 |

Or / 41

Give the arguments in favour of
liberalization of industrial sector in
Indian economy.

TRer Aifes Srel 497 THRISATR s
4! ez faa |

( Continued )
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(d) Explain five important poverty alleviation

programmes implemented by the
Government of India during recent times.

ArfSF THREAC ©[© BIPIA AT 9
o3 I3 TGl GRS <RI |

Or / |41

What do you mean by poverty line?
Explain various causes of poverty in
India.

wfimer SRt T & @ e oo’ wRuen
RfSa FRPHR TR0 40 |
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